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2019(Odd) o1d Syliabus

Time : 3Hrs. Sem. VI -C
Const. Tech 11
Full Marks : 80

Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.

Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question
carries 4 marks.
gu-B 9wt uig gl & SR <, UAD U BT AH 43b e |

Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & it ufg 9ol @ SR <, TAS UeT &1 A9 83 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP YT & 9] 3 BT SR UP &) oiE (AR HH H)

BT a1fey, 3=gem 4 Wiid -2l ol 9ad 2 |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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11.

WIS gs, aIduuR &I WErdl 9 A a3l
IiaRe aadl fBfAfRkiT sy $9 HRA?
o &Y |

OR(312141)

Explain the methodology of construction techniques
of pre-cast building components.

waq i 8g S9a yd—adrg s & frmior
abe @1 faftr @7 e & |

How will you repair cracks in masonry wall due
to deflection of R.C.C. beam or slab?
Discuss with neat sketches.

fedft g faareg @1 far 9 yafera e
PHIC Bd AT &RA & DI d IU~ DD
BT 3T DA 7T &R ? afad 9ofq &Y |

OR (3121a1)

Give general specification of aggregates obtained
from natural sources for concrete.

0T6009

(i)

(iii)

(iii)

(iv)

3 15604

Afrra e oIet 'd 2, a8 8-
(31) a1

@) 7=t

(|) IRoHoHlowd™

(]) IS A

The minimum tread width of a stair case
of public buildings should be:

(a) 25 cm

(b) 30 cm

(¢)35cm

(d) None of these

ABITAR Haal H A 7 g1 Bl
—g1aq disTg Bl afee—

(31) 25cm

(@) 30 cm

(|) 35cm

() 39 9 BIg 7€

The number of sides detached with open
spaces in the case of a semi detached building
is:

(a) Two

(b) Three

(c) Four

(d) One
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Hhu—el Ja-1 § g fHy oA ared (vi) LS. 4326—1993 & TR, HH¥ Sli- Ud
faft=1 yaR @ afier §=) arerar KA1 oY RESIE 1IN N R L o A— Afdran
B wee f3aa &) | fadt AR & T- s ?Q;T%WQ'
R YYdd v ¥ favqgd ygas &1 <9y | (a) ufa
(|) ®:
OR(372ran) (=) <=
: . (vii)  Television stations have assigned an importance
How will perfO@ a test on cement in respect of factor of ............... as per [.S. 4326-1993.
fineness? Explain. (2) 1.0
(b) 1.5
dRic &) Y&aaar AT dE 1 HRI1? (c)2.5
ATAT BN | (d)2.0
(vii)  1.S.4326-1993 & AR cfefas T ==l
8. What do you understand by concrete of constant @& foIu yvrg AUTH BT ... 4
workability? How do you measure workability? fafRa fear mar 2
8 (3) 1.0
Hdle—a fFrad gorfar @ g a1 wusa 87? (@) 1.5
gordar o9 frerel ol 272 (W) 2.5
(®) 2.0
OR (3721d1) (viii) As per I.S. 4326-1993, well burnt bricks and
solid concrete blocks having crushing strength
How will you determine the compressive strength not less tban ......... should be used for building
of concrete in laboratory? construction.
y: (a) 3.5 MPa
.. (b) 3.0 Mpa
TAITRTeT § ®blc & grdied armd Imy (c) 4.0 Mpa
DI FTd BRI ? (d) 5.0 Mpa
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OR (312rdn)

Differentiate between frequency of sound and
intensity of sound

&q+i1 @1 JATTAT qAT &GN B yderdr ¥ IR
e P ?

What precaution should be taken while using

chemical for anti-termite treatment?
4

4 el IUAR B WERAT ST YANT B
G ¥l S arell et @ 2?

OR (3121d1)

What is band? Why it is necessary to provide in
masonry construction.

dvs T 2?7 e el § sael avgedr
g1 gIdl 87

Describe the principle and necessities of building
bye laws. 4

0T6009
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W9 olcl &1 AT ® AT Hshic Ads
UR 3T STl @ df S99 oo Hed 2
(31) geramxor

(¥) ST

(&) sia

() 399 & dIs T8l

The magnesia content allowed in cement is
limited to...........

(a) 4%

(b) 6%

(c) 5%

(d) 10%

e ¥ AF9R@r ) FufRa am=r i
S

(31) 4%

@) 6%

(®|) 5%

(2) 10%

The slump recommended in mm of concrete
for read work shall be

(a) 12to 25

(b) 20 to 30

(c) 25t0 50

(d) 50to 100
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xx) "We ddpic B3 9 T B Bl
BIe—BIe wel ¥ faufora fear wrar 2

g9 WUel B oIr1s B dHEr ol gidl 2.

q8 o—

(1) 0.5m

(d) 1.0m

(®) 1.5m

(]) s° 4 PIs T8

GROUPB

Answer all Five Questions.

ol uig gl & SR o

2.

4x5=20

How does the configuration of a building affects its

seismic performance?

4
fodl was1 &1 e s9e Yoy ygela

&1 DA yHIfad Hdr 27

0T6009
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xiv) WfSd $¢ AT @R & THSI Bl ...

(xv)

(xv)

(xvi)

dad © |

(31) dwIATSCT
() ©bu

(W) wra

(?) 9w

Out of following, ........... is a type of sound
absorbing material.

(a) Pulp boards

(b) Asbestos

(c) Glass

(d) None of these

(|) Tema
() T4 9 BIg 78

As per 1.S. 4326-1993, the wall length of load
bearing walls should not be greater than:

(a) 10m

(b) I5m

(c) 20m

(d) 40 m
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